SR-W, SR—WM, SR-VFISR-VME!

| == 7

Lu
z

M P
3 3 7H3
W2 Wi
MR LM R <+
PNFRAIS aE | BE | KE
SHRE
M W L B © SX? Ly T K N E Hs
SR 15V/VM 40.4 — 22.9
SR 15N/WH 24 | 34 |t 26 |, MAX7 | 20| 5.7 [18.2| 6 |55 | PBI02IB | 5.8
SR 20V/VM 47.3 — 27.8 g
T 8 | 42 |5 32 ] 5 MsXx8 |72 22 | 6 | 12 B-M6F 6
SR 25V/VM 59.2 — 35.2 ¥
SR 250/WM 33 | 48 |57 35 | 5 M6 X9 s |77 26| 7 | 12 B-M6F 7
SR 30V/VM 67.9 — 40.4 N
EE 42 60 | ogg| 40 | 4o | MBX12 |55 | 85 |325] 8 12 B-M6F | 9.5
SR 35V/VM 77.6 — 457 g
SR 35H/WH 48 70 | 0] 50 | g | MBX12 |7 [12.5(36.5] 8.5 | 12 B-M6F |11.5
SR 45W 60 | 86 | 126 | 60 | 60 | M10X15 [90.5| 15 [47.5[11.5| 16 | B-PT1/8 [12.5
SR 55 68 | 100 | 156 | 75 | 75 | m12x20 | 117 [16.7|54.5| 12 | 16 | B-PT1/8 [13.5
SR 70T 85 | 126 [194.6] 90 | 90 [ m16x25 [147.6[24.5] 70 | 12 | 16 [ B-PT1/8 [ 15
SR 85T 110 | 156 | 180 | 100 | 80 [ m18x30 | 130 [25.5[91.5| 27 | 12 | A-PT1/8 [18.5
SR 100T 120 | 178 | 200 | 120 [ 100 [ M20%x35 | 150 [29.5[ 101 | 32 | 12 | A-PT1/8 | 19
SR 120T 110 | 205 | 235 | 160 | 120 | M20x35 | 180 | 24 | 95 | 14 [13.5| B-PT1/4 | 15
SR 150T 135 | 250 | 280 | 200 | 160 | M20Xx35 | 215 | 24 | 113 | 17 [13.5| B-PT1/4 | 22

SR25 W 2 UU CO M +1240L Y P T M -II

L T
ABEE MBS | BAME | MER  vEKE IMEE | EEEEL
E’J%FF?; FRigoan | ATRERE (BfImm) ARG | B
= LM HEFRID oxa)
R—fus LEAL  EEERIFE oo BBAT | p
LMiEEREI AL @ (i) / BME (C1) LN
HHFE (CO) T ERRIE (x3)

T (KAL) / Bk (H) / %4 (P)
BREER (SP)/ BEHRE (UP)
Cx1) 2RE1-494 LR LMitE. (C%2) 3HBE1-71. (%3)2HREA1-76. (%4)2RMA1-13.

) WATMB S LU TN BRE (M2 TITRAR, Z0FE2EXE.)

HMEXTHIE
LNFRELS KA ?

BTERAR SRS

B1-210 TR

https://tech.thk.com




2-Sx¢

-SX
© . ) &S|
L1 L1
y C -
o 4 @ d2 t \El"
—r N M N[ ] N il
n 1 - o op - 7 5 atl
M1| I -|J )i ain ‘ M1I ) e =T g
DI safll
SR-VE SR-WH
B
LMEAE R <+ BEATEH A BSB/IFIE kNem* RE
W, Mo W
TE =E | fLiE KE*| C | G ) ') N | LMBBR | LMERIE
= e |
W, N pieps N B8t N
wos| W | m [ F di X d:Xh Max | kN | kN |28k 5%;; BB ﬂgéﬁ; $BiEtk kg kg/m
(1240) | 9.1 [11. 70,034 | 0. 234 | 0.0215 | 0. 149 0.0694| 0. 12
1519.5 11251 60 | 3.5X6X4.5 | 3500 |13 8|20.5|0.098¢ | 0551 | 0.0604 | 0. 343 | 0. 122| 0.2 | -2
(1480) |13.417. 2| 0.064] 0. 396 0.0397 | 0. 25 |0.135| 0.2
20| 11 115.5) 60 | 6X9.5X8.5 | 3000 [19.2|28.6|0.167|0.887|0.102| 0.55 [0.224| 0.3 | %!
(2020) | 21.6|26.8|0.125| 0. 73| 0.0774 | 0. 488 | 0. 245| 0.3
23 |12.5) 18 1 60 | TXITNXG | 3500 |30 9(a4.7(0.326| 1.74 | 0.2 | 1.08 |0.408| 0.4 | %7
(2520) [29.5(34.4]0.173| 1.15 [0.108| 0. 735 0.376| 0.5
28| 16 | 28 | 80 | TXUNIX9 | 5000 145 6|64 4]0.564| 2.92 [0.346 1.8 |0.703| 0.8 | *3
(2520) |40.9[46.7]0.275| 1.79 [0.171| 1.14 |0.615| 0.8
34| 18 127.5] 80 | 9X14X12 | 5000 40 4|81.8|0.785| 4.27 [0.482| 2.65 | 1.08 | 1.2 | &%
45 |20.5]35.5| 105 | 11X17.5X14 | 3000 [80.4] 107 | 1.17 | 6.34 [0.721| 3.94 | 1.89 | 2.2 | 11.3
48 | 26 | 38 | 120 | 14X20x17 | 3000 | 136 | 179 |2.61| 13 | 1.6 |8.05|3.33| 3.6 | 12.8
70 | 28 | 47 | 150 | 18X26X22 | 3000 | 226 | 282 | 5.03 | 25.7 |3.09 | 15.9 | 7.47| 7 | 22.8
85 |35.5|65.5| 180 | 18X26X22 | 3000 | 120 | 224 | 2.54 | 15.1 | 1.25 | 7.47 | 5.74 | 10.1 | 34.9
100 | 39 |70.3| 210 | 22X32X25 | 3000 | 148 | 283 | 3.95 | 20.9 | 1.95 | 10.3 | 8.55 | 14 4. 4
114 |45.5| 65 | 230 | 26X39X30 | 3000 | 279 | 377 | 5.83 | 32.9 | 2.87 | 16.2 | 13.7| — —
144 | 53 | 77 | 250 | 33X48x36 | 3000 | 411 | 537 | 9.98 | 55.8 |4.92 | 27.5 | 24.3 | — -
SE1) FRICMZRRLMBER LMFEFENER K FA A SRR BT AR B SIS iR 438, A5 2 IRES M.
RIS K FSRESTRIF = @ AR B R X LR SR AER, iERTHCE .
SR85THISR100T Y ZEL MFE BRI 22 25 A 5P o
KE* KEMaxZ2IELMVEMIRERAKE (2R B1-214)
BARIFHE" BiEHR  ERTNLNERINER S BIF A
2NEEE 2B E R RERSRIF A
iE2) SRISBEI K 25B & B REFLRTAER2MANIE. (B R1)
5SSREVE HFERAT, IETELMNIEREFLIR .
ERTERIE R THKE .
F1 LMEBREILRT
NIRRS FREHIE R E
SR 15 M3A (FAFIE) | MAF (BRiEY)
SR 25 M6F (FRi2Y) M5 (FARIE)
EHEA-E1-457 TR B1-211





